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Question 1 — Find the missing values
below given that the two triangles in
each box are similar.
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Question 2 — Find the missing values
below given that the two triangles in
each box are similar.
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Question 3 — Find the missing values
below given that the two triangles in
each box are similar.
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Question 4 — Find the missing values
below given that the two triangles are
similar.
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Question 5 - Find the area of the circle
below correct to 1 decimal place.
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AE is a diameter

AED is a straight line
ABC is a tangent

O is the centre of the circle
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Question 6 — Given that the two
triangles below are similar, express y in
terms of z and x.
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